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Third M.B.B.S. (Part-I) (Phase-I) Examination
June [/ July - 2016
Community Medicine (PSM) : Paper-II

Time : 10 Minutes] [Total Marks : 10

OBJECTIVE QUESTIONS (MCQ)
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(2) Select most appropriate answer for Q. 1 to @. 5 and encircle
selected single best option,

(3) Encircle TRUE or FALSE for statement Q. 6 to Q. 7

(4) Read instruction carefully for Q. 8 to Q. 10 and encircle any single
answer as A, B, C, D or E against each of these.

1 Objective Questions (MCQ) : 10
(1) Denominator for calculating crude birth rate is
(a) Number of living births
(b} Number of women
(c) Midyear population
(d) Total number of Eligible couples
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(2} Leading cause of maternal deaths in India is
(a) Anaemia
i(h) Haemorrhage
(c) Sepsis
{(d) Obstructed labour

(3) Xerophthalmia is considered as a public health problem
in a community if the prevalence of Bitot's spots is more

than:

(a) 1%
(b) 0.5%
) 5%
(dy 2%

{4y Eggs are reference protein because of

{(a) High calonc content
{(h) Increased protein/100 grams

fc) Increased biological value and +NPU
(h  Decrpased digestibality coefficiont

(5) Which organization mainly works for Children
(a) World Bank
(b)  Bill Gates and Melinda Foundation
) UNESCO
{dy UNICEF

(6) Socially acquired learned behaviour is called Culture.

TRUE FALSE

{7y Panel discussion can be defined as Stage wise formatted
teaching

TRUE FALSE
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Select any one of the options(A, B, C, D, E) as mentioned below
for Q. 8 to Q. 10

A - if both statements are true and the second statement 1s a
correct explanation of the first statement

B : if both statements are true but the second statement 18 not
a correct explanation of the first statement

- if the first statement is true but the second one is false
D : if the first statement is false but the second one is true

E : if both statements are false

(8) Agricultural worker has nothing to do with occupational
health because occupational health is concerned with
industry and industriglized countries only.

A B C D E

diseases which
reduction in mortality over last 3 decades and the
reduction in mortality is due to effective antihypertensive
freatmernt.

AWwB C D | 4
(10) Turner's syndrome is a chromosomal disorder but Marfan's

syndrome ig a Mendelian disease,
A B C D E
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